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FOREWORD

The National Examinations Council of Tanzania (NECTA) is pleased to issue this
Candidates’ Item Response Analysis (CIRA) report on the Form Four National
Examination (CSEE) for 2020 in the Chinese Language subject. The examination
provides an evaluation of the product of candidates’ learning the Chinese Language in
Tanzania for four years at Ordinary Secondary Level.

The analysis presented in this report is intended to contribute towards the
understanding of reasons behind the candidates’ performance in Chinese Language
subject. The report highlights the factors for good and weak performance. The good
performance was due to the candidates’ ability to answer the questions according to
the requirements as well as their competence in the Chinese Language. However,
those who had weak performance failed to comprehend the requirement of the
questions and lacked knowledge of the Chinese grammatical rules and vocabulary.

The feedback delivered will enable the education administrators, school managers,
teachers, students and education stakeholders to take appropriate measures in order to
improve the candidates’ performance in future examinations administered by the
Council.

Finally, the council would like to acknowledge the examinations officers, statisticians,
Information and Communication Technology (ICT) experts, teachers and all those
who participated fully in preparing and analyzing the data used in this report.

.

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report analyses the performance of the candidates who sat for the
Certificate of Secondary Education Examination (CSEE) in the Chinese
Language subject in 2020. All the questions were set in accordance with the
2015 Chinese Language syllabus.

The Chinese Language Examination had a total of 13 compulsory
questions. The questions were grouped in five sections: A Comprehension,
B Patterns and Vocabulary, C Grammar patterns, D Language Use and E
Composition. Section A had 2 questions; question 1 and 2 where each of
which carried 10 marks, thereby making a total of 20 marks. Section B
comprised 3 questions; questions 3, 4 and 5. Question 3 and 4 carried 5
marks each and question 5 carried 10 marks thus making a total of 20
marks. Section C contained 3 questions; question 6 and 7 which carried 5
marks each, and question 8 carried 10 marks, making a total of 20 marks.
Section D contained 3 questions; questions 9 and 10 carried 5 marks each
and question 11 carried 10 marks, making a total of 20 marks. Section E
had 2 questions; each question carried 10 marks, thus making a total of 20
marks.

The analysis presented in this report focuses on how the candidates
performed in each question. The challenges they met and the strengths they
had in responding to the questions. Sample extracts of responses from the
candidates’ scripts have been presented to show how the candidates
responded to questions in relation to the requirement of each item.

The analysis of the candidates’ performance is presented in three
categories. The performance from 65 to 100 percent is categorized as good,
from 30 to 64 percent as average and from 0 to 29 percent as weak. The
three colours have been used to represent the candidates’ performance:
green indicates a good performance; yellow shows an average performance
while red denotes a weak performance. The candidates’ performance in
each topic is summarized in the Appendices | and I1.

A total of 139 candidates were registered for the Form Four National
Examination in 2020, 126 of whom sat for the examination and 13
candidates were absent. The analysis shows that the general performance in
this year was good because 119 (94.4%) candidates passed the examination
and 7 (5.6%) candidates failed the examination. This performance has



decreased by 5.6% compared to the 2019 performance where all candidates

100% passed.

Table 1: Candidates’ Pass Grades in the 2020 CSEE

GRADES
Year Sat A B C D E
2019 144 40 33 55 16 0
2020 126 32 23 47 17 7

ANALYSIS OF THE CANDIDATES’ RESPONSE IN EACH QUESTION

2.1  Section A: Comprehension

This section consisted of two questions, question 1 and 2. The
candidates were required to read the passages and answer the
questions. Each question carried 10 marks, thus making a total of 20
marks. This section tested the candidates’ ability to comprehend the
Chinese Language written information.

2.1.1 Question 1: Multiple Choices

In this question, the candidates were provided with a
passage from a topic of Health. They were required to read
the passage and answer the questions by choosing the
correct response from the alternatives A, B, C and D. The
passage was about eating habit of a family. The question
tested the candidates’ ability to comprehend the information
in the passage. The passage and its questions were as
follows:



— [idEx, DA, REEL, RFEAEE

Da Wei shi yi gé zhong xué de xuésheng , ta shiwi sui le . Méitian zioshang , ta de ma mq
X T R-A b F 4 FE o TE FT.ERF L, NS
géi tAmen zud zéofan , ziofan y6u jidan . nilnai . mianbao hé shuigud. Néinai géi timen zud
miwf) MTR, TR AGE. £, @ & KRR, W afd] &
wii fan » wiifan you nitrdu , jirou, shiicdi hé shulgud. Dawei ai chi miantido , yinwéi niinai zud

R, SBOEEAR. BA RE A AR, KD K00 &, BARNE
de miantido hén hiochi.  Niinai hé mama yiqi zud winfin, mama zud de tang hén hdo hé. Chi
W @&k R oL, B Ao B —RH ORI B AR 8. 0
qud wanfan , yéye xian kin yi g& zhongtéu de dianshi ,zai hé ndinai yi gi qu hibian sanbd . Mama
# iR, SRR B A 8 K Hu, by —REALRY . B
zud liinggé zhdngtéu de jiawu, biba di yige ban zhdngtéu de tiijiqudn . Dawei gén tamen yi
WA Bk B RE EEN-AF B K 8 KE. RIT RN —

yang xihuan yindong, zui xthuan hé ta de hio péngyou Wing Xidoming yiqi tT zigid .

B Ok &, B Ak Ao ke oM A E b A R HUK

Liri: Dawei ji suile?

fldm: KE JLFT?

Dd an
E%:B
Shi sui Shi wi sui Wi sui Shi san sui
A T¥ B +t&¥ c ¥ D t= ¥
Shui zud wan fan ?
1. #ORIR?
Dawei de ndinai hé baba Dawei de baba hé mama
A KBS A &8 B AL ¥ EE€EHBE
Dawéi de yéye hé mama Dawei de ndinai hé mama

C XEH%HF = B4 D KZE & A= 55

Dawei de ndinai zudde shénme hén haochi ?
2. KE &) dndn fey A 4 fR EEE?
mifan midntido midnbao Jjidan

A X B @& C @& D BE

Zaofan hé wiifan dou you shénme ?

3.FR R FIRER R AT
mianbdo tang shuigud jidan
A & & B & C AX D &%
Winfin hdu Dawéi de yéye xian gan shénme ?
4.8 B KL M FFx F A7
san bu ylindong T zd gid kén dianshi
A #t¥F B EH C BAK D FEA
Dawei zui xihuan shénme yundong ?
5. k3 & Ex M4 EH?

san b da taijiquan 11 zigid yundong

A #¥ B #r&A#%E C H{AK D E#




The data shows that 126 (100%) candidates attempted the
question, of whom 104 (82.5%) candidates scored from 8 to
10 marks, which is a good performance, 22 (17.5%)
candidates performed averagely by scoring from 4 to 6
marks and there were no candidates who had weak
performance. The general performance in this question was
good because 126 (100%) candidates scored 30% or above.
Figure 1 summarizes the candidates’ performance in
question 1.
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Figure 1: The Percentages of the Candidates’
Performance in Question 1.

The candidates’ performance analysis shows that 104
(82.5%) candidates performed well in this question. These
candidates comprehended the passage and managed to
choose the correct answers. For instance, in item 1, the
candidates were required to answer the question #f #4842 ?
(Who prepares their dinner?). The candidates chose the
correct answer D K T #9485 48 4=43%3 (David’s mother and
his grandmother), for the reason that they understood the
phrase “Fmeee--- —#2” from the passage.

In item 2, the candidates were required to answer the
question which asked kK T & 4545 & H 4 &k 4FrL
(What does David’s grandmother cook well?). The
candidates choose the correct answer because they had

4



sufficient vocabulary which enabled them to understand the
passage and identify the correct answer that says David’s
grandmother cooks delicious noodles.

Moreover, in item 3, the question required the candidates to
answer the question F4& #= iR 4% A 24 ? (What
does their breakfast and lunch have in common?) which
wanted the candidates to name the food which is found in all
meals. The candidates who got this item right opted C and
were able to recognize the vocabulary 7K % (fruits) which
appears in both breakfast and lunch.

They also responded correctly to item 4, whose question
asked K T &9 % F iR B £ 1+ 4 ? (what does David’s
grandfather do firstly after supper?). They wrote the correct
answer which was D & ®.#0 (watches TV), because they
understood the phrase 45 % & & — A~ 4 K %9 € A
(Grandfather first watch TV for an hour) in the passage.

Finally, in item 5, the candidates were asked X T & %k
241z #)? (What is David’s favorite sport?). They chose the
correct answer C ¥ & 3k (playing football) because they
managed to differentiate the hobbies mentioned, thus they
ended up identifying the correct answer. This implies that
these candidates had ability to comprehend the passage.
Extract 1.1 is a sample of the candidates’ good responses to
question 1.

3¢ |
b
g (. i

Extract 1.1: A sample of the candidates’ good responses
to question 1.



In Extract 1.1, the candidate responded correctly to all items
by choosing correct options.

Further analysis shows that 22 (17.5%) candidates scored
from 4 to 6 marks, because they responded correctly to some
items but failed others. This shows that they had partial
knowledge on comprehension. For instance, the candidates
who scored 0, in item 1, failed to identify the specific person
who cooked dinner. Some of them opted for A K T &943 47
#= & & (David’s grandmother and father) because they
were influenced by the phrase X I 4y %7 %3 (David’s
grandmother). Thus, they did not know that the noun & &
(father) was a distractor because the father did not cook he
rather played taiji. Those who opted for B were attracted by

the noun 4%3% (mother) and they did not know that & &
(father) did not cook he played taiji. Those who opted for C
they were attracted by the noun #%4% (mother), and failed
to notice that 5% (grandfather) did another activity which
was walking.

In item 2, the candidates who scored 0O mark failed to
differentiate the types of food cooked by grandmother
which was B # % (noodles). They chose the wrong options
because they did not know that, A K& (rice) was not
written in the passage and that C # &, (bread) and D % &
(eggs) were types of food cooked by the mother.

In item 3, the candidates who got 0 mark failed to notice the
key word #¢ (all) which required the candidates to choose
one type of food which appeared in all meals. They failed
because they did not know that other options did not appear

in both %R (breakfast) and “F#%&% (lunch).

Similarly, the analysis shows that in item 4, the candidates
failed to identify the correct answer D & =4 (watch TV)
which was an activity was done by the grandfather. The
other options were wrong for the reason that an option A #&

6
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¥ (take a walk) was incorrect because %% (Grandfather)
and #3475 (Grandmother) were going for a walk. Option B
Z#) (sports) and C ¥ sk (play football) were activities
done by David.

Finally, in item 5, the candidates were asked to mention the
sport most practiced by David. The correct answer was C #
& sk (play football) because this was the most favorite
sports practiced by David. The candidates failed in this item
because of choosing incorrect answers. For instance option
A # ¥ (take a walk) was an activity done by 3 %
(Grandfather) and %343 (Grandmother), B T K% (play
Taiji) was done by David’s fathers and D i3 (sports) in
general. This analysis implies that these candidates had
partial knowledge of Chinese vocabulary and limited ability
to comprehend the given passage. Extract 1.2 is a sample
from a candidate performed averagely in question 1.

‘
—i R

0. 6

3 b

. b

5-C

Extract 1.2: A sample of responses from a candidate with
average performance in question 1.

In Extract 1.2, the candidate was able to choose the correct
answer in items 2 and 5 but failed in items 1, 3 and 4.

Question 2: Reading the passage and Answering
Questions Using Chinese Characters

The candidates were given a passage and they were required
to read it and respond to the questions by using Chinese
characters (X ). The passage was from a topic on Travel
and Custom. It was about culture information of Chinese
traditional Festivals such as the Spring Festival (& ), the

7



Dragon Boat Festival (3% 4 % ) and the Mid-Autumn

Festival (*F A 7).

This question examined the candidates’

passage and its questions were as follows:

ability to
comprehend and use the Chinese character (X ). The

Zhongguo you héndud chuantong jiéri, méige jiéri de feéngsi buyiyang. Zui ybuming
v B KA k% #4 TH, EATHHALR—H. R

de shi Chianji¢ , Duanwa Jié hé  Zhdngqia Jié.  Gud Chiinjié de shihou, méi gé rén
HRAAET. WmFTFA PR . d AF HHE, ENA

Jjianmian

A A4

VUL

dou shud “Xinnidn h#o” hé “Xinnian kuailé”, sdng xinnidn liwd g&i péngyou hé jiarén;
# L CHSFATT A CRSFBORT L E MF AL B A A RA

Zhonggud rén hai xihuan bidoyan wiiléng,  wiishi, hé jiarén yiqi zuo jidozi, kan chiin
dE AL ER RR AEBEW, P RA-RHK BT.F A
jié dianshi wanhui. Duanwii Jié Zhdnggué rén yao chi zongzi, 2zongzi hén hdochi;  chile
TR WA, AT P B A B BT, ET R HoL: BT

cht zongzi, hdi qu gongyudn kan I6ngzhou bisai. Guo Zhonggqiti Jié de shihou, Zhdnggué

kT, Tk N B A A A K. G P K H &, B

de féngst dou hén ydu yi si.

oy RAsAR e A EZ,

Lirmi: Wen: Zhonggué jiéri de féngsi z&énmeyang ?
Blde : Fl: F B HEMHRAE EaH?

Dd

% PEYRORMLAHARAES

Zhdngguorén Duanwii Jié yao chi shénme ?
1. F BA 3% % &% 24?2

°

Chile ChiinJié, Zhdnggué hdi you shénme yduming de jiéri ?

2. BT AT, ¢ BEA M2 4 B5a?

°

Na ge jié ri you longzhdu bi sai ?
3. MATAEA A E?

o

Zhongguorén shénme jié ri chi jidozi ?
4. F BAMH2 FRLET?

°

Guod Zhonggqii Jié you shénme huédong ?
i o KT A M2 EFH?

o

o

rén chdngchdng chi yuébing, hai hé jiarén yi qi kan méili de yueliang. Zhonggué jié 'ri

A EF L AW, TRFA—KE EWAOAE,

+ &

A

T H

The total of 126 (100%) candidates attempted the question,
63 (50%) candidates out of these scored from 8 to 10 marks,
which is a good performance, 38 (30.2%) candidates scored

8



from 3 to 6 marks with an average performance and 25
(19.8%) candidates scored 0 to 2 marks, which is a weak
performance. The general performance of candidates in this
question was good, since 101 (80.2%) candidates from
scored 3 to 10 marks. Figure 2 summarizes the candidates’
performance in question 2.

100 ~
90 -
80 -
70 -
60 -
50
40 -
30 +

50.0

30.2
20 - 19.8
10 _J
O .
0-2 3-6 7-10
Scores

Percent of the Candidates

Figure 2: The Percentages of the candidates’ Performance in
Question 2.

The candidates’ response analysis reveals that, 63 (50%)
candidates who had good performance were competent as
they comprehended the passage and answer the questions
correctly in Chinese characters. Those candidates completed
the five questions with the correct information using correct
characters. For instance, in item 1, the question was + E A
S 224+ 42 (What would Chinese people like to eat
during the Dragon Boat Festival?). This question tested the
candidates’ knowledge of the Chinese Festival. They wrote
the correct answer which was #rzZ 475 (rice dumplings)
because they mastered well the Chinese festivals and the
type of food that eaten during specific festivals.

In item 2, the candidates were required to answer the
question R 7 AT, TELAMFZAKH LT H (Are there

9



other famous Chinese festivals apart from the Spring
Festival?). The candidates managed to write the correct
answer which was 3% 4 % #= ¥ #& %7 (The dragon Boat
Festival and the Mid-Autumn Festival), because they
mastered well the expression & 7 ---iL£ (apart from). This
expression needed the candidates to mention the others
festivals besides from the one which was mentioned in the
question. They understood the passage and identified the
other festivals in the passage.

Furthermore, in item 3, the question was ARA B A £H
FL %2 (Which festival has the dragon boat competition?).
The question tested the understanding of the candidates on
the activity done during the Dragon Boat Festival. These
candidates wrote the correct answer 3% (The dragon
Boat Festival) because they had adequate vocabulary.

Further analysis shows that, in item 4, the candidates were
required to provide the name of the Festival in which the
Chinese eat %% -+ (dumpling). This question tested the
candidates’ understanding of foods which are taken during
the Chinese traditional Festivals. These candidates wrote the
correct answer A& 7 (spring Festival) because they
mastered well the vocabulary of Chinese traditional festivals
and were able to identify the correct answers in the passage.

In item 5, the question was id P Ak 37 9 BH4% A H A E3h?
(What is the activity in Mid-Autumn Festival?), the
candidates gave the correct answer AMf1*C A%, FA =
(People have mooncakes and watch the moon) because they
mastered well the topic of Festivals and were able to
comprehend the passage. This implies that the candidates
were competent in comprehending the Chinese Language
passage. Extract 2.1 is a sample of the candidates’ good
responses to question 2.

10



L EbHA Wffﬂg"é *1‘
) BIEE, M’MJ s AV T REE B,
;ﬁwﬁﬁng‘ |
4?’@/(75519?9# e

5 HEA *aﬁa aéﬁw%m b B,

1

Extract 2.1: A sample of the candidates’ good responses to
question 2.

Extract 2.1, the candidate was able to read the given passage
and answer the questions using Chinese characters correctly.

Further analysis indicates that 38 (30.2%) candidates who
scored 3 to 6 scores responded correctly to some items and
failed to others. These candidates understood partially the
passage because they had partial knowledge of
comprehension. For instance, in item 2, the candidates who
scored O did not understand the structure & 7 ««-«-- £ means
(apart from) which led them to write wrong answers.

In item 4, the candidates failed to give the correct answer
because they failed to differentiate between the festivals and
the foods eaten in those festivals. Some candidates wrote the
name of food instead of name of the festival which was &
1 (spring festival). Others wrote the activities done during
different festivals. For instance, & A 7=, "¢ A %t (watch
the moon, eat moon cakes) % % # % (watch dragon boat
competitions, #& % (lion dances) and # %% ¥ (making
dumplings). This implies that the candidates lacked
vocabulary of festivals.

In item 5, the candidates who scored 0O mark failed to
identify the specific information from the key sentence K A
—AF EWAa9 A 7% (Family members watch the bright and
round moon). Some candidates failed to recognize the verb
% because it was preceded by the noun phrase which is %
m &y. Few of them failed to write the correct Chinese
characters because they lacked knowledge of Chinese

11



vocabulary. This made them to have an average performance.
Extract 2.2 is sample of responses from a candidate with
average performance in question 2.

dn lﬂanLgu a_}_
74 m LE I
zr

]
ul
R
-
faiy
Bul
L\\_Q
“(
|
=

GtfpE HEAS 12

5‘ (:71»{{} ‘Ljﬁﬁj @Iu ﬁ%%ﬁ LLU! anju_l ])mq ]’}p \/qé hqn

Extract 2.2: A sample of the candidates’ average responses.

Extract 2.2, the candidate wrote correct answers in items 1
and 5 but failed in items 2, 3 and 4.

Further analysis indicates that 25 (19.8%) candidates failed
and scored from 0 to 2 marks, because they were not able to
answer the questions correctly. Some candidates understood
neither the contents of the passage nor the requirement of
the questions. They just copied words and sentences from
the passage and wrote them as answers. Few of them failed
to write correct Chinese sentences or phrases with Chinese
characters. For example, in item 1, the candidates failed to
give the name of the food eaten during spring festival which
was #%-F instead they wrote the other festivals ¥ #& ¥ and
A& . This shows that the candidates did not understand the
requirement of the question and they failed to notice the
verb vz (eat) which was a key word for the question.

Moreover, the candidates who got wrong item 3, failed to
mention the festival in which there is Dragon Boat

12



Competition. The response analysis shows that the
candidates lacked vocabulary on festivals and the activities
done during the festival. Thus, they ended up giving a wrong
answer like copying the sentences from the passage and
writing them as answers. For instance, one of them wrote %
TeL ¥5F RAST B AH LA K. This implies that these
candidates had insufficient knowledge of reading for
comprehension. Extract 2.3 is a sample of weak candidate’s
responses in question 2.

= e
NN
e QAR ES TR &
| 1 SRR \Y *WI;U’ |
Z
2. 4 F AT L
PAGTENIR
i 7x\ v :_—
‘ '2 s Jl‘:”‘h—lrfi‘ﬂ |
i | 1 = A
L En BT 4
A F =T ERNODL AN

Extract 2.3: A sample of the candidates’ weak responses
to question 2.

In Extract 2.3, illustrates the weak responses from the
candidate who wrote incorrect sentences and characters.

13



2.2

Section B: Patterns and vocabulary

This section contained three questions: questions 3, 4 and 5.
Questions 3 and 4 had 5 marks each and question 5 had 10 marks,
thus making a total of 20 marks. The candidates were required to
answer all the questions.

2.2.1 Question 3: Filling in the Brackets with Chinese Pinyin
from the Provided Characters

The question comprised 5 items and each of them had one
word written in Chinese characters. The candidates were
required to write the missing pinyin. The words were
derived from the topic on Introduction and Recommendation.
The question tested the candidates’ ability to recognize the
Chinese characters and its pronunciation. The question was
as follows:

< Yy bid
1 D S 511 |
C BIERS L)

The total of 126 (100%) candidates attempted the question,
of whom 23 (18.2%) candidates scored from 8 to 10 marks,
which is a good performance, 52 (41.3%) candidates scored
from 3 to 6 marks, which is an average performance and 51
(40.5%) candidates scored 0 to 2 marks, which is a weak
performance. The general performance of candidates in this
question was average, since 75 (59.5%) candidates scored
from 3 to 10 marks. Figure 3 summarizes the candidates’
performance in question 3.

14
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Figure 3: The Percentages of the Candidates’ Performance in
Question 3.

The data shows that 52 (41.3%) candidates had average
performance as they scored from 2 to 3 marks which is an
average performance. These candidates were able to write
correct pinyin with their respective tones for some of the
Chinese characters but failed in others. Most of the
candidates wrote correct answers in items 2 and 3 while the
majority failed in items 1, 4 and 5. The response analysis
shows that some candidates were able to write the initials
and finals correctly but failed to mark the tones at the right
position. Other candidates failed to differentiate
homophones, this made them to write wrong characters.
This proves that, these candidates had partial knowledge of
Chinese syllables and Tone-Mark-Rule. For example, in
item 1, the candidates were required to write pinyin xing
(with the fourth tone) as a correct answer, but some of the
candidates marked as it xing (with second tone) which was
wrong and others wrote xing (with first tone). This shows
that these candidates failed to differentiate between the
rising tone and fourth (falling) tone and first (flat) tone.

In item 3, wai (#}), the candidates who scored 0 mark failed
to mark the correct tone which was the fourth tone wai, For
example, most of them put a tone on top of letter “i” (wai)
instead of putting it on top of letter “a” (wai) . They also
failed in item 4 in which the correct pinyin was xunlian 71 %

15



(training). Some of them wrote lian without tone, others
marked the wrong tone lian and few of them wrote lan with
incorrect final.

Lastly, in item 5, in the character ¥[:#+, most of the candidates
failed by writing you without tones, whereas others wrote
you and few of them wrote you instead of the correct answer
you. This shows that these candidates had partial knowledge
of pinyin writing skills and Tone-Mark-Rule. Extract 3.1 is a
sample of responses from a candidate with average
performance in question 3.

=] 1. Xing
—
2 r}
2 . Wdu
4 - ldn
5 You

Extract 3.1: A sample of the candidates’ average responses.

Extract 3.1, shows a candidate who managed to write correct
pinyin in items 1, 2 and 3 but failed in items 4 and 5.

Moreover, the candidates’ response analysis indicates that
23 (18.2%) candidates had high marks in this question as
they scored from 4 to 5 marks. These candidates mastered
well the pinyin with their tone-mark-rule, the initials and
finals which resulted into writing correct answers in all
items. Apart from that, the candidates had enough
knowledge and skills in recognizing Chinese characters,
strokes and pinyin. Extract 3.2 is a sample of the candidates’
good responses.

16
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Extract 3.2: A sample of the candidates’ good responses to
question 3.

!

In Extract 3.2, the candidate wrote correct pinyin in all the
items.

Furthermore, 51 (40.5%) candidates scored from 0 to 2
marks, demonstrating a weak performance. These candidates
failed to recognize the given Chinese characters (:X ) and
hindered from writing the correct Pinyin (#f&). The
analysis of candidates’ response indicates that some of the
candidates did not master the pinyin with their respective
tone mark, as they copied any pinyin from the questions and
wrote them as answers.

For example in item 2, the candidates were asked to write
pinyin ri with the fourth tone, but some of them wrote ri
without marking the tone and others wrote mu H instead of
ri H. They failed to differentiate between the two Chinese
character B and H. This implies that these candidates had
insufficient knowledge of recognizing Chinese characters
and Tone-Mark-Rule in the Chinese Language. Extract 3.3
is a sample of responses the candidate who performed
poorly in question 3.
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2.2.2

= ”(&hac

12T
< hae

Ao

IRCEEE
Extract 3.3: A sample of the candidates’ incorrect
responses to question 3.

In Extract 3.3, the candidate wrote incorrect pinyin for the
characters given and he/she wrote any pinyin which came
into his/her mind.

Question 4: Filling in the Brackets with Chinese
Character from the Provided Pinyin

In this question, the candidates were given 5 vocabulary
having gapes written in pinyin and they were required to
write the characters. The words were from the topic on
Shopping. The question examined the candidates’ ability to
write the correct characters which represents the given
pinyin. The question was as follows:

W AREH T H T
ni  hdo
A (MR 4F
yang rou
1. ¢ DA
zi  xingché
2. ( RS
caio di
3. ( ) 3
yi  gong
4. — ( )
dian  xin
5. & ( )
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The total of 126 (100%) candidates attempted the question,
of whom 12 (9.6%) candidates scored from 4 to 5 marks,
which is a good performance, 40 (31.7%) candidates scored
from 2 to 3 marks which is an average performance and 74
(58.7%) candidates scored from 0 to 1 mark, which is a
weak performance. The general performance of candidates
in this question was average, since 52 (41.2%) candidates
scored from 3 to 5 marks. Figure 4 summarizes the
candidates’ performance in question 4.

100
20
80
70
60
s0
40
30
20 2.6

10
o , |
o -1 2 -3 4 -5
Scores

58.7

31.7

Percentage of the Candidates

Figure 4: The Percentages of Candidates’ Performance in
Question 4.

The data indicates that 40 (31.7%) candidates had an
average performance, as they scored 2 to 3 marks. These
candidates wrote correct characters in some items while
failed to write those in other items. These candidates were
not familiar with some of the rules of writing characters,
which made them leave some strokes when they were
responding to the question. They also failed to differentiate
the characters of the same pronunciation. For instance, in
item 1, some candidates failed to differentiate character 4%
yang (appearance) from character & yang (sheep) which
was the correct answer. These characters confused them
because they have the same pinyin with different tones. This
shows that, the candidate did not master well the tones. In
item 2 the candidates were supposed to write the correct
character which was B, but some candidates confused it

with character 5 because both have the same pronunciation.
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Others candidates wrote E because they are slightly similar
morphologically.

Furthermore, in item 3, the candidates wrote 7 (early)
instead of ¥  (grass). These candidates failed to
differentiate the two characters. The character ¥ have two
parts B and + while ¥ have three parts+-, H and .
This implies that these candidates had partial knowledge of
recognising and writing characters. Extract 4.1 is a sample

of responses from a candidate who performed averagely in
question 4.

=
P ¥
2. 8
» B
g 1
.y

Extract 4.1: A sample of the candidates’ average responses.

In Extract 4.1, the candidate was able to write correct
characters in items 1 and 5 but failed in items 2, 3 and 4.

Further data analysis shows that 74 (58.7%) candidates had
weak performance, as they scored 0 to 1 marks. Those who
scored O wrote incorrect answers in all of items but for
those with | mark wrote incorrect answers in most of items.
This proves that the candidates had insufficient knowledge
of character writing which made them to write incorrect
characters and even leaving some blanks unfilled. For
instance, in item 4, some candidates wrote T (worker)
while others wrote /-~ (open for all) instead of
(common/together) which was the correct answer. In item 5,
the candidates who scored 0 failed to write the required
character. This was due to the fact that they had inadequate
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writing skills in Chinese character and insufficient
knowledge of Chinese stroke order. Extract 4.2 is a sample
of a weak performance in question 4.

m &

i

T

-

-s-\ w\ ““’\

S

Extract 4.2: A sample of the candidates’ incorrect
responses to question 4.

In Extract 4.2, the candidate wrote wrong characters.

Further data analysis indicates that 12 (9.5%) candidates
who scored from 4 to 5 marks responded to the question
correctly. These candidates had sufficient knowledge of both
Chinese characters (X ) and pinyin (#f & ). They
provided the required Chinese character of the pinyin asked.
They were also able to differentiate the characters which
have the same pronunciation and forms, thus they ended up
writing correct answer. This indicates that the candidates
mastered well Chinese characters with their respective
strokes in relation to the given pinyin. Extract 4.3 is a
sample of the candidates’ good responses into question 4.
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2.2.3

== oy e

~
-,

5 S

Extract 4.3: A sample of the candidates’ good responses.

In Extract 4.3, the candidate was able to write the characters
correctly in all items.

Question 5: Choosing the Correct Character from the
Given Two Similar Characters

In this question, the candidates were given 5 items, in which
they were required to choose one Chinese character between
two similar characters in order to complete the meaning of
sentences. These characters were similar in either
morphology or pronunciation. The questions covered the
topic of Travel and Customs. The question examined the
candidates’ ability to recognize the Chinese characters. The
question was as follows:
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EBFHEE,

Lird: Wojiaysu  kdurén.

flde: KEAH A 0 Ao (A/A)

Tian yU bao shud mingtian you yti.
1. X AR % B XA & (/)
Ldi pido bi dan chéng pido pidnyi de dud.
2. X 2 ohd £ 2 REFZ, (n/8E)
Jigjie de xing b dud.
3. it 1%, (3/%)
Wo xinnidn liwd nd 14i les
4 & HEABEAT. (/)
Xigohai béi zai Lunddn ting liv san tian.
5 M # EEBE BEZ XK. (/K

The total of 126 (100%) candidates attempted the question,
of whom 78 (38.1%) candidates scored from 8 to 10 marks,
which is a good performance, 28 (46.0%) candidates scored
from 3 to 6 marks which is an average performance and 20
(15.9%) candidates scored from 0 to 2 marks, which is a
weak performance. The general performance of candidates
in this question was good, since 106 (84.4%) candidates
scored 3 to 10 marks. Figure 5 summarizes the candidates’
performance in question 5.
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Figure 5: The Percentages of the Candidates’ Performance in
Question 5.

The candidates’ response analysis shows that 78 (38.1%)
candidates performed well in this question as they scored 7
to 10 marks. These candidates identified the correct Chinese
characters according to the meaning of the sentence. They
were able to differentiate the two given characters and
identified the correct answer. For example, in item 1, they
chose the correct answer . (weather). The two Chinese
characters (% and <) had not only the same pronunciation
(pinyin) but also were slightly morphologically similar, even
though there is a difference where ;4 (steam) has the radical
(v ). The candidates differentiated them well and chose the
correct answer.

In item 2, the candidates managed to choose the correct
answer because they understood the meaning of the sentence.
They also knew the meaning of the words and managed to
differentiate the characters and this enabled them to get the
item right.

Moreover, in item 3, the candidates who got this item right,
identified the correct answer 2= owing to the fact that, they
mastered well the difference between the two characters: 2=

(luggage) and % (season). These characters are slightly
morphologically similar despite their difference in meaning.
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Furthermore, in item 4, the candidates who had good
performance differentiated the characters 4& and *&. They
knew that 4 is a verb (brought) while & is a particle model
(right or yes or ok). They chose 42 as the correct answer
because they knew that the particle 2 stands at the end of
the sentence.

Lastly, in item 5, the candidates who got it right were able to
identify the correct answer # because they knew the
difference between the two characters. They knew that the
word & (difficult) is an adjective while the word £
(prepares) is a verb. In this sentence the correct answer was
the verb /& and not the adjective %&. This implies that the
students mastered well the characters which have some
similarities. Extract 5.1 is a sample of the candidates’ good
responses to question 5.

3.l
Q.
3]

{

v gy 7]

4.1
|F';’f§

Extract 5.1: A sample of the candidates’ good responses to
question 5.

In Extract 5.1, the candidate managed to write correct
answers in all items.

Further data analysis shows that 28 (46.0%) candidates had
an average performance by scoring 4 to 6 marks. Most of the
candidates answered correctly in some items but failed in
others. This performance was affected by the partial
knowledge of the candidates on characters. Others chose the
correct character but failed to write them with correct
strokes. Others did not know the meaning of the words and
their uses in the sentence. They also failed to distinguish the
given similar Chinese characters (X ). This indicates that
25



these candidates had partial knowledge of the characters
having some similarities. Extract 5.2 is a sample of
responses from a candidate with average performance in
question 5.

=
T

N -]

T4

-

2
7
D

&
=

=

RN

==

y)
e

B i}i

Extract 5.2: A sample of the candidates’ average responses
to question 5.

In Extract 5.2, the candidate was able to write correct
answers in items 1, 4 and 5 but failed in items 2 and 3.

Additionally, the data analysis shows that 20 (15.9%)
candidates got 0 to 2 marks, which is a weak performance.
The analysis shows that the candidates failed to differentiate
the similar Chinese characters. They chose the wrong
answer by guessing and wrote them wrongly. For example,
in item 1, the candidates who scored O failed to differentiate
two characters % (steam) and A (weather). They also
failed in item 2 by scoring 0. In this item, the candidates
were required to fill in the blank space with the verb ©
(return). These candidates filled it with the noun @ (mouth)
which was wrong. They did not know that the blank was
required to be filled with the verb and not the noun.

Moreover, in item 3, they wrote wrong answers because they
did not understand the meaning of the sentence and chose an
incorrect 2= instead of the correct answer Z. This shows
that, these candidates did not master well the different forms
of the two characters and their uses in the sentence.

Furthermore, in item 4, they wrote incorrect answers
because they did not know that the two words differ in
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2.3

meaning and in uses in the sentence. For example, *Z is a
model particle which is positioned at the end of the sentence
while 4 is a verb.

Finally, in item 5, the candidates who scored 0 did not know
the difference between the words *& (difficult) and
(prepares). They chose by guessing, thus they ended up
giving a wrong answer. This implies that they lacked the
knowledge of different Chinese characters. Extract 5.3 is a
sample of responses from a candidate with weak
performance in question 5.

|

B TR
|

h

|

2
-

I

s

|15,
7

Extract 5.3:
guestion 5.

o X
> i

sample of the candidates’ weak responses to

In Extract 5.3, the candidate wrote incorrect characters in all
items.

Section C: Grammar Patterns

In this section, the candidates were given three questions: 6, 7 and 8.
This section had a total of 20 marks, where question 6 and 7 carried
5 marks each and question 8 carried 10 marks.

2.3.1 Question 6: Multiple Choices

In this question, the candidates were given five items with
multiple choice items having the blank spaces which the
candidates were asked to fill by writing its letter in their
answer booklets. The questions were from the topic on
Environment and worth 5 marks. It examined the
candidates’ ability to use Chinese grammar. The question
was as follows:
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7 B,

Lini: Ni shénme mingzi?

ide: R (B ) HAEF?

shi jido qi hui
A %2 B ™M C* D &
Xidoming jid zai jidoqa , shi zhongxin hén  yuiin.

1. 08 RERE, ( ) oP fR R,

zai 1i cong wing
A& B & c A D i
Béijing tai da le , women de chéngshi Béijing name da.
2. AwFAKRT, A1 8 BT ( ) AT AL K.
géng hén bi méi ydu
AR B ik C i D &A
Qiiitian de ) Tidin’anmén Guingching you hén dud rén.
3. &R 8 ( Y, R B H KRS A
shihou nali na ge shénme
A & B HE c A D 4

Lili  jia wai bian de féngjing pidoliang dé.

4 WREHL 8 AF FX H ( ).

feichdng jile budélido hén hio
A dEF B MT cC ~ET D fRIF
Hudche zhan i rén hén dud , késhi hén anquén , yé hén ganjing.
5 k% 3 2 ( ) ARE, TR &, LR T4
yinwei sudyi suirén késhi
A B# B FrEA C &% D T

The total of 126 (100%) candidates attempted the question,
of whom 60 (47.6%) candidates scored from 4 to 5 marks,
which is a good performance, 43 (34.1%) candidates scored
from 2 to 3 marks which is an average performance and 23
(18.3%) candidates scored 0 to 1 marks which is a weak
performance. The general performance of the candidates in
this question was good, since 103 (81.7%) candidates scored
3 to 5 marks. Figure 6 summarizes the candidates’

performance in question 6.
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Figure 6: The Percentages of Candidates’ Performance in
Question 6.

The analysis of the candidates’ response reveals that 60
(47.6%) candidates had good performance, as they provided
correct responses. These candidates understood the
requirement of the questions with their respective
alternatives. For example, in item 1, the candidates were
required to fill in the blank with the correct preposition.
They chose the correct answer because they master well the
structure # .....i% (far from).

Moreover, the analysis shows that, in item 2, the
candidates wrote correct answer % 7 (not) because, they
mastered well the expression % A ...... AR A (is

not.....as.....). Likewise, in item 3, the candidates were
required to fill in the blank with the correct preposition.
They identified the correct answer, which was A B 1%
(during), because they knew that the word B}4% goes with
the word 49.

Furthermore, in item 4, the candidates chose the correct
answer C 1~4F 7 (extremely) because, they knew that the
adverb extremely is preceded by the word %, and this shows
that they mastered the grammar pattern Adj +#% + ~#F 7.
Subsequently, in item 5, the candidates were required to
choose the correct answer which was C & /X (although).
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Those who chose the correct response mastered well the
expression & X....7 & (Although...but). This implies that
these candidates mastered well the grammar patterns in
Chinese Language. Extract 6.1 is a sample of the candidates’
good responses to question 6.

(‘*r—-LUGb

[
2.
3
4.
5

Extract 6.1: A sample of the candidates’ good responses to
guestion 6.

In Extract 6.1, the candidate filled in all the blanks by
choosing the correct answers.

Further analysis shows that 43 (34.1%) candidates had
average performance as they scored from 2 to 3 marks. Most
of the candidates wrote correct answers in some items while
failing in others. They understood some questions and some
alternatives but failed in others. The analysis indicates that
these candidates had partial knowledge of the Chinese
grammar patterns. Extract 6.2 is sample of responses from
the candidate with average performance in question 6.

N
S

/N

D —
FONP bo [

A il )

'

Extract 6.2: A sample of the candidates’ average responses.

In Extract 6.2, the candidate was able to write correct
answers in items 1, 3 and 4, but wrote wrong answers in
items 2 and 5.
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Moreover, the candidates’ performance analysis indicates
that 23 (18.3%) candidates scored 0 to 1 mark, which is a
weak performance. These candidates failed to identify the
correct grammar patterns. They chose the alternatives by
guessing and some of them did not understand the meaning
of the sentences and alternatives. For example, in item 1, the
candidates failed to choose the correct answer which was B

# (...from), because they did not master well the structure
# ....1Z&, a preposition which indicates a distance between
two places. There were candidates who chose A 7 (in)
which is a preposition used before a noun of place. Those
who chose C Ak did not master well the expression A ... %]
(from ....to) whereas those who opted for preposition D &
(towards) did not know that this preposition is used before
the direction/place (4% + Direction/place + verb). This

implies that the candidates did not master well these
prepositions and their uses.

Further analysis shows that, in item 2, the grammar pattern
was XA ...... AR A4 (isnot.....as.....). Therefore according to
this grammar pattern the correct answer was D /%7 (not).
Some candidates opted for A £ (more) which was the
wrong answer because this was an adverb and not a
comparative. Few candidates opted for B f& (very), because
they were attracted by the word X at the end of the sentence
without knowing that the adverb f% goes before kX (& X).
Those who opted letter C tt (than) did not know that this
comparative is used to compare two things. This indicates
that the candidates did not master the expression % 7 .... 7}
A.

In item 3, the candidates were required to fill in the blank
with the preposition. The correct answer was A B 1%
(during), because in the sentence given there was a
possessive word &9 ....... which is followed by B 4% to form
an expression ... 49 &% (during). Further analysis indicates
that the candidates who opted for other alternatives; B " 2

31



(where), C kA~ (which) and D 1+ 4 (what) did not know
that these were interrogative words and not prepositions.

Also in item 4, the candidates were required to choose the
correct adverb. The correct answer was C 7~ 1§ 7T
(extremely) because it is preceded by the word #F. Most of
the candidates opted for distractor B # T (extremely)
because, it has the same meaning as *~ # 7, but it is
preceded by the adjective (Adj +#8 7 ): Others opted for A
JE% (very) whereas others opted for D f&%F (very good)
because they failed to differentiate them. This implies that
the candidates did not master well the uses of the adverbs
and the grammar pattern Adj +# + 45 7.

Finally, in item 5, the candidates were required to choose the
correct answer which was C % X because of the presence of
the conjunction *T & in the second close of the sentence.
Some of the candidates managed to provide the correct
answer because of their sufficient knowledge of the structure
& /K....7T & (Although...but). Moreover, in this item most
of the candidates failed in this item by selecting wrong
answers. For example, those who opted for A E %4 had
inadequate understanding of the structure A BT A
(because...therefore). They did not know that the
conjunction & #X goes simultaneous with the conjunctions
7] #&. Also some candidates opted for B P74 (therefore)
because they did not know that Ff VA is preceded by the
conjunction & 7, hence they formed the structure & % ... P
VA (because...therefore). Few candidates opted for D =] &
because they lacked knowledge of the uses of this
conjunction as was the case in the second phrase. This
implies that these candidates had insufficient knowledge of
the grammatical patterns in the Chinese Language. Extract
6.3 is a sample of the candidates’ weak performance
responses in question 6.
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2.3.2
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Extract 6.3: A sample of the candidates’ weak performance in
question 6.

In Extract 6.3, the candidate chose incorrect answers in all
items.

Question 7: Choosing the Correct Vocabulary from the
Given Two Similar Patterns.

This question had five items with blank spaces. The
candidates were required to choose the correct Chinese
character from the two given characters. The question
covered the topic on Family and Fashion and Environment.
This question tested the candidates’ ability to use Chinese
grammar patterns in the sentences. The question was as
follows:
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L ghhENALRD T AXFHRE.

Liri: ~ Wo ldoshi.
4o £_R_#IF, (#/%)

Nagé chuén hong qunzi de rén shi wo de Hanyt  ldosh,

. A F i BFHA RAH LiE £, (B/X)
W gége jia you yi da huayudn, wo feiching xihuan,

2. BFHEH- KR, & &% %! (MR)
Kuzi hé chényT zai wd fangjian de yizi

3 BFAARE K AREOKT_ . (Z/1)
Shangehéng pangbidn de gdngyudn Ii you dud hua,

4 Hh Fush AR EZA % . (R/E)

Ni jintian chuan de xiézi zhen

BAR F 8 BTR | (F#/%F)

The total of 126 (100%) candidates attempted the question,
of whom 87 (69.0%) candidates scored from 4 to 5 marks,
which is a good performance, 37 (29.4%) candidates scored
from 2 to 3 marks which is an average performance and 2
(1.6%) candidates scored O to 1 marks which is a weak
performance. The general performance of the candidates in
this question was good, since 124 (98.4%) candidates scored
3 to 5 marks. Figure 7 summarizes the candidates’
performance in question 7.
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Figure 7: The Percentages of the Candidates’ Performance in
Question 7.

In order to answer correctly this question, the candidates
were supposed to be able to differentiate the words given in
brackets; that is their difference in form and meaning
together with their use in sentence.

The analysis of the candidates’ response indicates that 87
(69.0%) candidates scored from 4 to 5 marks which is a
good performance. These candidates mastered well the
characters, as they were able to differentiate them. They
understood the meaning of the sentences, the meaning of the
characters given and their uses in the sentences. For
example, in item 1, the candidates were required to fill in the
blank space with the negative form. They wrote the correct
answer, which was “~ because they knew that 4~ is used in
the structure... 7~ Z. In item 2, the candidates were tested on
their ability to use the measure words such as 4~ and
A . They managed to choose the correct answer because
they knew that 4~ was the correct answer, hence it is a
common measure word.
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However, in item 3, the candidates were supposed to select
one vocabulary which shows the location of pants and shirts.
The correct answer was _E (on) which indicates that the
things were on the chair. In item 4, the candidates managed
to choose the correct answer which was f& for the reason
that they knew that the character f& goes with the character
% and form the word /& % (many).

Lastly, in item 5, the candidates were required to fill in blank
with the correct adjective. The analysis shows that some
candidates opted the correct answer because they mastered
well the meaning and uses of the adjective /% which
describes the cleanness of #£-F (socks). This reveals that
these candidates mastered well different vocabulary and
their uses in the sentences. Extract 7.1 is a sample of the
candidates’ good responses to question 7.

;F
AT
E
TR .

5 T -# _
Extract 7.1: A sample of the good candidates’ responses to
question 7.
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4,

In Extract 7.1, the candidate was able to write the correct
answers in all items.

Further analysis shows that 37 (29.8%) candidates had scored
2 to 3 marks, because they had partial knowledge of the
Chinese grammar patterns. These candidates wrote correct
characters in some items and failed in other items. They
failed to distinguish the two words and failed to use them in
the sentences. This analysis implies that the candidates were
not familiar with some basic Chinese grammar patterns.
Extract 7.2 is a sample of responses of a candidate who
performed averagely in question 7.
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Extract 7.2: A sample of average candidates’ responses.

In Extract 7.2, the candidate managed to write correct
answers in items 2, 3 and 4 but failed in item 1 and 5.

Furthermore, the data indicates that 2 (1.6%) candidates
scored 0 to 1 mark, indicating a weak performance. These
candidates had weak performance due to the fact that they
did not master well the grammar patterns and the difference
among characters. This hindered them from choosing correct
answers, hence ended up scoring low marks. For instance, in
item 1, the candidates who scored 0, chose % (not have)
because they were not able to differentiate the uses of the
negations 7% and “~. They did not know that the verb &
goes with the negation “~ and that the negation % is
followed by the verb # .Moreover, in item 2, the
candidates who scored O failed to write the correct answer
which was 4. These candidates failed to differentiate the
uses of the two measure words. They did not know that, the
measure word 2 is used before noun of an animal and 4~ is
a common measure word.

Furthermore, in item 3, the candidates who scored 0, choose
¥ because they were attracted by the presence of the noun
& B (room). They thought that the things were in the room
which was wrong. Also in item 4, there were candidates who
scored 0, because they opted the wrong word E because
were attracted by the presence of the words £ & and 7£ in
the sentence and they thought that the word £ is used to
describe the park and flours.
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Lastly, in item 5, the candidates who opted the adjective %
5+ (tidy) were attracted by the word #:-F which had some
similar feature with the word %£ 5. They also did not know
that the word %% 5% is used to describe the good order or tidy
of the things. This indicates that, these candidates lacked
knowledge of the uses of the word which had some
similarities in the sentence. Extract 7.3 is a sample of
responses provided by one of the candidates who performed
weakly.
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Extract 7.3: A sample of the candidates’ weak
performance in question 7.

Extract 7.3, illustrates the performance of the candidate
provided wrong answers in all items.
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2.3.3 Question 8: Re-arranging the Jumbled Words into
Correct Sentences

The question had 5 sentences that consisted of four to five
jumbled words/phrases. The candidates were required to re-
arrange the words/phrases according to the Chinese
grammar in order to form a logical Chinese sentence. The
question covered the topic on Entertainment and aimed to
test the candidates’ ability to re-arrange the Chinese
sentences logically. The question was as follows:

A EIEA A

Lird: shi Zhdnggud wo rén
Hle: DR QFE Q& @A
0V o
chdngchang  didi 1 zaqit qit gongyuan

—_

. O%% Q%% OHRHK @LErE

kaishi tianqi yubao shihou shénme

2. DF  QRAHH OHE @z

chantian you Béijing de tiantian feng

. DAX @A QkFT#y @XX OR

w

yao shanshang xiayu kuai le

NOES @ut Q@F® @ ®7

N

chafa Xuéxiao Xigohai ba dién qu

5. OH K @k Q& @A & (GFS

The total of 126 (100%) candidates attempted the question,
of whom 4 (3.2%) candidates scored from 8 to 10 marks,
which is a good performance, 51 (40.5%) candidates scored
from 3 to 6 marks with an average performance and 71
(56.3%) candidates scored from 0 to 2 marks which is a
weak performance. The general performance of the
candidates in this question was average, since 55 (43.7%)
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candidates scored from 3 to 10 marks. Figure 8 summarizes
the candidates’ performance in question 8.

Scores
mo-2

mg-10

Figure 8: The Percentages of the Candidates’ Performance in
Question 8.

The data indicates that 51 (40.5%) candidates scored from 4
to 6 marks, which is an average performance. These
candidates were able to write correct answers in some items
but failed in others. In the items which they wrote correct
answers, they mastered the structure of some sentences and
this enabled them to score average marks. For instance, in
item 1, the candidates were able to re-arrange the jumbled
words correctly asin QD@ Q %% F% FNEHL
# (My young brother often goes to the park to play football)
because they mastered well the sentence structure S+ADV+
V+0.

Further data analysis shows that, in item 2, the candidates
were able to re-arrange the jumbled words correctly @@®
D RAFMIRA 2 8F-4EFF45 (At what time will the weather
forecast start?) because, they knew that the noun X A 4k
should stand as a subject followed by the time duration word
1+ Z B 4% and that the word 7745 stand as a verb. Also,
other candidates knew that the time duration word + 4 &+4&
could start and followed by the subject X A ¥4k then by
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the verb 4%, as one of them wrote f+ 4 B & X A4k I
45,

In item 3, the candidates re-arranged the sentence @D @ Q
® dxwey AR KX A K (it is windy every day during
spring in Beijing) correctly. These candidates managed to re-
arrange the sentences correctly because they mastered the ]
phrase. In item 4, the analysis of the candidates response
shows that some candidates were able to re-arranged the
jumbled words into the meaningful sentence as they wrote
QO@ODOR® L Lk &TFT@HT (It's going to rain on the
mountain). These candidates were able to re-arrange the
jumbled words correctly because they managed to recognize
the expression t%... 7 (Almost...).

Finally, in item 5, the candidates were required to re-arrange
the given jumbled words into the correct sentence. Some

candidates managed to re-arrange @@DBOQ ) i\ &
K H% K (Xiao Hai goes to school at 8:00 am) correctly
because they mastered the syntactic structure S+Time +V+N.
Extract 8.1 is a sample of responses from the candidate who
performed averagely in question 8.

5 A 0 5a
r B H 0
3 H 0BG E
. @ 00 6OE

L OWEa0

Extract 8.1: A sample of the candidates’ average responses
in question 8.
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Extract 8.1, shows the responses of the candidate who was
able to re-arrange items 1, 2 and 3 but failed in 4 and 5.

Further data shows that 71 (56.3%) candidates had weak
performance, since they scored 0 to 2 marks. These
candidates did not master well the sentences patterns and the
structure of the sentences. They did not know the right
position of the jumbled words in the sentences, hence re-
arranged the words randomly and formed meaningless
sentences. For example in item 1, some candidates re-
arranged QDR # % xAE % % HALK (my young
brother goes to the park often to play football) in an
incorrect way. They re-arranged the sentences incorrectly
because they did not master the sentence structure S+ADV+
V+0. This implies that these candidates lacked skills in
Chinese sentence structure.

In item 2, the candidates failed to re-arranged the jumbled

words into correct sentences, as most of them re-arranged
incorrectly the sentence @@B® QD i 4% A 2 R A AR F
4 (Time what weather forecast will start) because of
insufficient knowledge of the Chinese vocabulary that
hindered them from uncomprehending the meaning of the
provided jumbled words. Also in item 3, the candidates re-
arranged wrongly the sentence as one of them wrote D@ Q@
®@. This shows that they failed to understand the grammar
structure @9 phrase, as well as the meaning of the jumbled
words and their position in the sentences.

Further analysis shows that, in item 4, most of the
candidates failed by re-arranging incorrectly the sentence @
® @D because they did not master the grammar 2. ..
7. Finally, in item 5, most of the candidates re-arranged
the jumbled words incorrectly by starting with the verb Q@
QOB AN & FA )i % (Depart at 8:00 am school
Xiaohai goes). They re-arranged incorrect because they did
not master the grammar structure S + Time + V + N. This
implies that these candidates had partial knowledge of
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sentences structure. Extract 8.2 is a sample of responses
from the candidate who performed weakly in question 8.

N @@
HEOIE@IC)
A O@IZCND
4 (D E)E)
CANOIC)ICYAZ

Extract 8.2: A sample of the candidates’ weak
responses in question 8.

In Extract 8.2, the candidate failed to re-arrange all
sentences.

The data shows that 4 (3.2%) candidates scored 8 to 10
marks because they demonstrated good knowledge of
sentence patterns. They used Chinese grammar to re-arrange
a logical Chinese sentence. The analysis indicates that they
mastered well the Chinese sentence structure which led them
to write correct answers. Extract 8.3 is a sample of good
performance.

Al QOBY
2. QOB
2 B0OEEO
» QDO B O
s OR000

Extract 8.3: A sample of the candidates’ good responses in
question 8.

43



2.4

In Extract 8.3, the candidate re-arranged correctly all the
items.

Section D: Language Use

In this section, the candidates were given three questions which
were question 9, 10 and 11. Question 9 and 10 had 5 marks each
and question 11 had 10 marks, thus making a total of 20 marks. The
candidates were required to answer all the questions.

2.4.1 Question 9: Matching Items

The candidates were given five questions from the topic on
Time in column A and they were required to answer them by
matching with answers found in column B. They had to
write the letters of the correct answer in the booklet given.
The question tested the candidates’ ability to express
themselves in Chinese by responding correctly to the
questions asked. The question was as follows:

LERAL, RF-MERLLH.
AR B A2
Nihio ! Xingqrsan.
. AR EZH=,
Tinsangniya ji yue tiangi zui ré? Jintian hén re.
CBEERE LA RAER? A R AR Ho
Nainai Xinggqilit jidian qu juyuan? ShiyT didnban.
. W BHASSILE L AIR? +—aF.
Céng Beijing dao Taigud yao jigé xisoshi? Dangtian.
LA AR B AR RIUANDE? ESE
Mingming nitidn ySu zhongwénke? yué.
B MR A P SUR? 12 A
Béijing ndgé jijié zui léng? Nihao!
AL A F T RA? AR !
Sanshi féenzhonghodu.
=t o4 B
Si gé xidoshi.
w9 A~ it
S 3
AR 1 2 4
B# F

The total of 126 (100%) candidates attempted the question,
of whom 79 (62.7%) candidates scored from 4 to 5 marks,
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which is a good performance, 37 (29.4%) candidates scored
from 2 to 3 marks which is an average performance and 10
(7.9%) candidates scored from 0 to 1 mark which is a weak
performance. The general performance of candidates in this
question was good, since 116 (92.1%) candidates scored 4 to
5 marks. Figure 9 summarizes the candidates’ performance
in question 9.

Scores
mO-1
2 -3
mg -5

Figure 9: The Percentages of the Candidates’ Performance in
Question 9.

The analysis of the candidates’ performance indicates that 79
(62.7%) candidates scored from 4 to 5 marks, which is a
good performance. These candidates understood the
meaning of each item in the question. They had an ability to
respond to the question in Chinese characters. This implies
that they had enough vocabulary. For instance, in item 2, the
candidates were asked 32 £ £ & JUHA K A& # (In which
month the weather is very hot in Tanzania?) and they were
able to match it with the correct answer E 12 A (on
December), because they comprehended the uses of the
interrogative words JUHA (which month).

Also, in item 3, the candidates were required to match the
question #3475 Z H#A5< JU& X AIIZ ? (At what time does
your grandmother go to the theatre on Saturday?) with the
correct answer C +— & ¥ (At half past eleven) because
they had mastered the grammar ..../U.%.... (....at what
time...) that enable them to comprehend the meaning of
both sentence and an option given.
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Further analysis shows that, in item 4, the candidates were
required to match the question At 7% 2| & EH & JUAN B
(How many hours does it take from Beijing to Thailand?)
with the correct answer H w9 /~/JsBF (four hours). They
managed to match it correctly because they mastered well
the grammar pattern A ....%| (From...to) which expresses
the interval of time. In item 5, the question was BF Bl X &
¥ L3R (On which day does Mingming have the Chinese
class?). The candidates matched it with the correct answer A
Z # = (Wednesday) because they understood the meaning
of the sentence in column A due to the presence of the
interrogative word "8 X (which day).

Lastly, in item 6, the candidates were asked 4t 7% A& 55
3 /& (During which season is the weather coldest in
Beijing?) in which they were required to mention the coldest
season in Beijing. These candidates were able to match it
with the correct response D % X (winter) because they
mastered well the different seasons. Therefore, they
managed to match all the items in column A with those from
column B correctly. Extract 9.1 is a sample of the
candidates’ good responses to question 9.

Nl4. F
2. B
=2 -
4y - H
s - A
o - DO
Extract 9.1: A sample of the candidates’ good responses to
question 9.

46



In Extract 9.1, the candidate was able to match all the given
sentences from column A with the words of column B
correctly.

Further analysis reveals that 37 (29.4%) candidates scored
from 3 to 4 marks, which is an average performance. It is
apparent that they got some items right while they got some
others wrong. The candidates who got them wrong failed to
choose the correct answers, because they had partial
knowledge of Chinese Language and had limited vocabulary.
Extract 9.2 is a sample of responses from a candidate who
performed averagely in question 9.

j—\\ A | 2 .3 H S é
B I+ |[EfCIH|D]|R
Extract 9.2: A sample of the candidates’ average
responses to question 9.

In Extract 9.2, the candidate was able to write correct
answers in items 2, 3 and 4 but failed in items 5 and 6.

On the other hand, the analysis of the candidates’
performance indicates that 10 (7.9%) candidates scored O to
1 mark, because they did not understand the meaning of the
items; as a result they matched all items incorrectly. Some of
them failed to identify the key information in the sentence
while others lacked the knowledge of Chinese sentence
structure.  Others candidates failed to understand the
requirement of the question, therefore, they picked the
letters randomly. For example, in item 2, most of the
candidates failed because they matched the wrong response
B 4 X ik # (today is very hot). They had inadequate
knowledge of the uses of the interrogative word JUA (which
month) that is why they matched it wrongly with the word
# (hot) which appeared in both sentences in column A and
B.

Moreover, in item 3, the candidates matched the word A £

#7 = (Wednesday) which was wrong, because they were
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24.2

attracted by the word Z #5. Furthermore, in item 4, the
candidates had insufficient knowledge on the grammar
pattern A ... %] (from...to) which made them to match it
with the incorrect response G =+ 4 4F & (after thirty
minutes). This implies that these candidates did not
understand the meaning of the sentences.

Further analysis shows that, in item 5, most of the
candidates failed because they matched the question the
incorrect answer D % X (winter) rather than with the correct
answer A 22— (Monday). The choice of the wrong was
that they were attracted by the word X. The candidates did
not realize that the question required them to match the
question with response which indicates the day and not
season. Finally, in item 6, the candidates matched the
question with the incorrect response B 4 X f&k # (today is
very hot) instead of the correct answer D 4k (winter)
because they had limited Chinese vocabulary. Extract 9.1 is
a sample of responses from a candidate with weak
performance in question 9.

fe. Jo T T 5 @
sl - g z‘ n i
\ B —H 4G

P S .

Extract 9.3: Alis a sample of weak candidates’ responses.

Extract 9.3, illustrates the performance of the candidate who
wrote incorrect answers in all items.

Question 10: Filling in the Blanks by Using the Given
Words

In this question, the candidates were given 5 words which
they were required to fill in the blanks of the given sentences,
by writing the letter of the correct answer. The sentences
were derived from the topic on School. This question tested
the candidates’ ability to communicate using proper
vocabulary and grammar patterns. Alternative F was given
as an example. The question was as follows:
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T &Rz, F-AERLLYE,

vindongehing jidosht yiyuan Zhongwénke Zhdngguérén mingzi
A BHH B#F c ER D K& E PEA F £%
Nijido shénme
1o fFta CF) 2
W jintian shang le dill ke hé tamen ddu hén yGu yisi.
2 AAR L TRERE (), ThE R ARE
Women ban you q7 ge Faguorén, lidng ge Yingguorén, yi ge
3 MEALA EBA, AN RBA, A ).

Xidohong de jicjie shi gongchéngshi, b shi

4. M damk IHF, FR ().

Biba shi yisheng, t3zai gongzud.
5 BEREA, #E () 14,
W6 de aihao shi yindong, wo méitian qi zu0 yundong.

6. KEMEHEES, AEX £ () MER,

The total of 126 (100%) candidates attempted the question,
out of whom 101 (80.2%) candidates scored from 8 to 10
marks, which is a good performance, 18 (14.3%) candidates
scored from 3 to 6 marks which is an average performance
and 7 (5.6%) candidates scored from 0 to 2 marks which is a
weak performance. The general performance of the
candidates in this question was good, since 119 (94.4%)
candidates scored from 3 to 10 marks. Figure 10 summarizes
the candidates’ performance in question 10.
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Percentageof the Candidates
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= 1.3

O — = =4 — S s 1O

Scores

Figure 10: The Percentages of the Candidates’ Performance in
Question 10.

The analysis of the candidates’ performance indicates that
101 (80.2%) candidates scored 4 to 5 marks, this is a good
performance. These candidates managed to write correct
answers because they had enough vocabulary. They
mastered well the language patterns, consequently, they
filled in all the items perfectly. For example, in item 2, the
candidates were able to select the correct response D # SCi%
(Chinese class) because they mastered the grammar ... #=...
(...and...). In item 3, the candidates were required to fill in
the blank with the nationality of the classmates. They
managed to identify the correct answer E # E A (chinese)
because in the sentence there were a list of nationality of
other classmates. In item 4, the candidates were required to
select the correct profession of Xiaohongs’ sister. These
candidates chose the correct response # Jf (teacher)
because they masterd the topic of professions. This
knowledge helped them to identify the correct answer.

Furthermore, in item 5, the candidates were required to fill
in the blank space with the adverb of place. These
candidates selected the correct answer C [& Iz (hospital)
because they understood the requirement of the question and
had enough vocabulary which helped them to identify the
correct answer. Lastly, in item 6, the candidates were able to
select the correct answer, which was A iz 3)3% ( sports
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ground) because they mastered well the topic of Hobbies.
This shows that the candidates had sufficient vocabulary of
hobbies and identified the correct answer from the list given.
Extract 10.1 is a sample of the candidates’ good response to
question 10.

EERY

> O [ oo

.

Extract 10.1: A sample of the candidates’ good responses
to question 10.

Extract 10.1 depicts the performance of a candidate filled
who the brackets with the correct answers in all items.

Further analysis indicates that 18 (14.3%) candidates scored
from 2 to 3 marks because they choose the correct answer in
some items and failed in others. These candidates had partial
knowledge of the given language patterns. Extract 10.2 is a
sample of responses from a candidate who performed
averagely in question 10.

..’_

e |
P m o

\

Extract 10.2: A sample of the candidates’ average
responses.

In Extract 10.2, the candidate filled in the brackets with
correct responses in items 3, 5 and 6 but failed in item 1 and
4.

On the other hand, the analysis shows that, 7 (5.6%)
candidates scored from 0 to 1 mark, which is a weak
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performance because they lacked vocabulary which
hindered them from understanding the meaning of the
question and the words given. For example, in item 2, most
of the candidates opted for B #¢ /7 (teacher) instead of D ¥
L3R because they were attracted by the phrase L 7 #.323%
(studied geograph). Also they did not know that the
conjunction #= is used in the sentence with two related
subjcets (F LR and #u3ZR).

In item 3, the candidates did not understand that they had to
fill in the blank space with the nationality. They failed to
identify the correct answer from the words given, and they
picked the words randomly. Furthermore, in item 4, most of
the candidates failed as they selected the word E ¥ H A
(Chinese) instead of the correct answer B # ) (teacher).
The candidates choice of the wrong words was presence of
the word 7~ . These candidates failed to realize that the
blank had to be filled with the name of profession and not
with a nationality.

In item 5, most of the candidates chose incorrect the
response B # J instead of the correct answer C & %
(hospital) because they were not able to differentiate the two
words. They were attracted by the presence E 4 noun
profession that made them to choose the # JF noun
profession which was wrong instead of filling in the blank
with an adverb.

Finaly, in item 6, the candidates were required to fill in the
blank with the word iz %)%, but they failed to realize that
the verb % had to be followed by the adverb. They chose
the words randomly and wrote them as answers. This proves
that the candidates had inadequate Chinese vocabulary.
Extract 10.3 is a sample of weak responses written by one of
the candidates.
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2.4.3

Extract 10.3: A sample of the candidates’ weak responses
to question 10.

In Extract 10.3, the candidate failed to fill in the brackets
with the correct answer in all items.

Question 11: Answering the Questions Using Chinese
Characters

This question had 5 items and the candidates were required
to use their own words to answer the provided questions
correctly by using Chinese Characters. The question was
derived from the topic on Hobby. The question tested the
candidates’ ability to express themselves in the Chinese
Language. The question was as follows:

T =mEEE, ARFBE,
l__irl.'l: NI jiao shénme mingzi?
Blda: ] A E&F?

Wo jiao Xiaoming.
& v s A .

NTY hui zud shénme yundong?

1. R M+ E=#7?

Ni de aihao shi shénme?

2. ARayEATAEAMT A7

Ni weéi shénme xihuan xué hanya?

3. i A Ex FINIE?

Ni méi tian déu zud shénme?

4. R HF R OFH M A7

NY yihou xidng zud shénme géngzud?

5. iRuiE A R i+ TAE?

The total of 124 (98.4%) candidates attempted the question,
of whom 69 (55.6%) candidates scored from 8 to 10 marks,

53



which is a good performance, 37 (29.8%) candidates scored
from 3 to 6 marks which is an average performance and 18
(14.6%) candidates scored from 0 to 2 marks which is a
weak performance. The general performance of the
candidates in this question was good, since 106 (85.5%)
candidates scored 3 to 10 marks. Figure 11 summarizes the
candidates’ performance in question 11.

100 o
S0
g0

-
7 -

60 55.6
50 -
40
30 -
20 - 14.6

o - T T
1-2 4 -6 & -10

Scores

Percentage of the Candidates

Figure 11: The Percentages of the Candidates’ Performance in
Question 11.

The analysis of the candidates’ performance in this question
indicates that 69 (55.6%) candidates who scored 7 to 10
marks, had sufficient vocabulary which helped them to
answer the questions correctly using the Chinese characters (
X F). This indicates that the candidates had a good mastery
of the Chinese Language, as they managed to express
themselves in Chinese. For instance, in item 1, the
candidates were asked 1% & 1+ 43z #)? (Which game
can you play?). They replied with the correct answers, as
one of them wrote & & # % Z 2K (I can play football)
because they had enough vocabulary pertaining to hobbies.

Further analysis shows that, in item 2, the question was 1/ &9
®4F A 24? (what is your hobby?) and the candidates
were required to provide their hobby in Chinese character.
These candidates wrote the correct answers with different

hobbies, as one of them wrote &4y &4F2 # 2 K (My
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hobby is playing football) because they mastered well the
vocabulary on hobbies.

Furthermore, in item 3, the candidates were asked & # 1t
2 B 5 X3E? (Why do you like to study Chinese?). The
candidates were able to answer with the correct answer, as
one of them wrote & &k & Ri&E B A & KA ZZ (I
like studying Chinese because Chinese is very funny). These
candidates replied correctly because they had sufficient
vocabulary to express themselves.

Similarly, in item 4, the question was 1% & X 4% #& 1+ 4?
(what do you do every day?) some candidates managed to
answer with the correct answer £ & X #¢ & FIR A=
. (Every day | prepare breakfast and lunch) because they
had sufficient vocabulary which enable them to understand
the meaning and requirement of the question. Finally in item
5, the candidates were required to answer the question 4% ¥4
J& XA 24 ITA4E? (What do you want to be in future?)
some candidates were able to reply with the correct answers
as one of them wrote #& VA& # EA (1 want to be a
doctor) because they had sufficient vocabulary on careers.
Extract 11.1 is sample of candidates’ good responses to
question 11.

HEEN/TE: Y

SR AT & TR A
AU RBEARGE RAy A
EEEE B LN RN E

s 4 LA f5 28, T B 1o

Extract 11.1: A sample of the candidates’ good responses
to question 11.
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In Extract 11.1, the candidate answered all questions
correctly.

Further analysis shows that 37 (29.8%) candidates who
scored from 3 to 6 marks were able to answer some items
correctly but failed to others, this made them to score
averagely. This implies that these candidates had partial
knowledge of the vocabulary. Extract 11.2 is a sample from
responses from a candidate who performed averagely in
question 11.

HIEEN TE Y
TS TSR

5. 3 WF R B,

1R Ak B P F I,
S K Ik 8 e B 1o

Extract 11.2: A sample of average candidates’ responses.

In Extract 11.2 a candidate wrote correct answers in items 1,
4 and 5 but failed in items 2 and 3.

Further analysis shows that, 18 (14.6%) candidates scored
from 0 to 2 marks, which is a weak performance. These
candidates did not master the basic Chinese vocabulary to
express themselves in daily communication. Most of them
did not understand the requirement of the question. They
failed to write correct Chinese characters (X ). Some
candidates copied some words from the exmination paper
and used them to make a phrase or a sentence which had no
relation to the questions. For example, in item 1, the
question was =& # 1+ 4 i #? (which game can you play?)
one of the candidates replied with the wrong answer in
pinyin wo hui zuo aihao yundong (I can play hobby sport)
this was due to the lack of the knowledge of the Chinese
writing skills.
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Also, in item 2, the candidates were asked 17 &9 5% 4F & 1+
2 7 (what is your hobby?) but some candidates replied
wrongly as wo #& 49 % 4F % & (My hobby is egg), and others
replied in pinyin, as one of them wrote wo de aihao shi t7 zd
giu (My hobby is playing football) instead of writing
characters.

Furthermore, In item 3, the question was 1% 4 H 4 &3k 5
X 1&? (why do you like to learn Chinese?). Most of the
candidates replied wrongly in pinyin wo wei Fdy:i xihuan
xué hanyz (I to French like studying Chinese) and others
replied with & & X % &3k 5 X & (I ocean day to like
studying Chinese). This shows that they lacked knowledge
of writing characters and the correct Chinese language
grammar.

Moreover, in item 4, the candidates were required to answer
the question & & X AR # + 4 ? (what do you do every
day? ). In this question the candidates were supposed to
express their daily routine/activities. Most of the candidates
failed because they lacked proper Chinese vocabulary to
express themselves. For instance, one of them wrote &4 X
#R A B (1 every day take airport). Also other candidates
responded incorrectly by writing pinyin W¢ méi tian dou zuo
yundong (I every day do sport) this proves that they had
insufficient skills in writing characters.

In item 5, the question was 1% VA& ##f+ 4 T4E? (what do
you want to be in the future?). The question required the
candidates to express their future job. The candidates who
failed in this item were not able to distinguish between
occupation and a place of occupation: between & 4 (doctor)
and &% (hospital). Therefore, the candidates scored zero.
Extract 11.3 is a sample of candidates’ weak responses in
question 11.
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Extract 11.3: A sample of the candidates’ weak responses
to question 11.

In Extract 11.3, the candidate failed to answer all the five
items because he/she wrote pinyin instead of Chinese
Characters.

Section E: Composition

There were two questions in this section, which were 12 and 13.
Question 12 consisted of five jumbled sentences, where by the
candidates were instructed to re-arrange the jumbled sentences into
a logical sequence to make a meaningful paragraph by writing
letters corresponding to the correct sentences. Question 13 was on
writing the composition on My Holiday. Each of the two questions
carried 10 marks, making a total of 20 marks. The questions tested
the candidates’ ability to write Chinese character and to express
themselves appropriately and logically in Chinese Language.
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2.5.1 Question 12: Re-arranging the Jumbled Sentences to
make a meaningful paragraph

The question had 5 jumbled sentences derived from the topic
of Time. The candidates were instructed to re-arrange the
jumbled sentences, by writing a letter of the corresponding
number in the table provided, in order to make a meaningful
paragraph. The question tested the candidates’ ability to
express themselves logically. The question was as follows:

+— A TFTaEHFENEEA, AREL, HAF—HcEsl.

W6 you yige hiio péngyou jiao Xidohai.
A RA—AHF RE M DiE.
Ta zhiinbéi xia XinggT ér shangwil shi didn zud chiziiche cong ta jia dao jichdng.
B 4t A& FEM— L & +.& & hff N REIIS.
Ta Hanyt xuéde féichdng héo, zhéci kioshi ta shi diyT ming.
C AuiEFF JEFHAF, RAFREALE L.
Zhdngwii shi*er didn kéy1 dao jichang, feiji sandian qifei.
D F4 += ETRAEIMG, KM= &AL .
Sudyi ta de Hanyi lioshT ging ta xia xingqt ér qit Zhdnggud liyou.
E ATl iisEIm e TFTEM= & b B,
Xingqisan xiawi dao B&ijing hou, ta zud hudché qu ta de Hanyt laoshi jia.

F RN T 5 b5, o4 k4 EfasieEmE.

1 2 3 4 5 6
L\ A
The total of 125 (99.1%) candidates attempted the question,
of whom 45 (36.0%) candidates scored from 8 to 10 marks,
which is a good performance, 31 (24.8%) candidates scored
from 3 to 6 marks which an average performance and 49
(39.2%) candidates scored 0 to 2 marks which is a weak
performance. The general performance of the candidates in
this question was good, since 76 (60.8%) candidates scored 3

to 10 marks. Figure 5 summarizes the candidates’
performance in question 12.

59



Scores

m]l -2
4 -6
mE -10

24 8%

Figure 12: The Percentages of the Candidates’ Performance in
Question 12.

The data shows that 45 (36.0%) candidates scored 8 to 10
marks, which is considered as good performance. These
candidates had good mastery of the Chinese Language and
produced the chronologically organized paragraph. In
addition, they had adequate knowledge of reading for
comprehension as well as the ability to arranging jumbled
sentences into a logical manner. They identified the key
information, showing sequence of events. For example, they
knew that the sentence C #iXi& 5 /FIEF 4F, Xk F XA
2 % —% (He was the first student in his Chinese final
examination) was supposed to be the second sentence
because it starts to introduce +J~ .

They also noticed that the sentence E AT YA 69 i35 % )T 7
T 2 #1 — % E 355 (So his Chinese teacher has invited
him to visit China next Tuesday.) was supposed to be the
third sentence because it linked to the second sentence by
describing the reason why /> # has been invited by his
teacher to travel. Furthermore, they knew that the sentence B
&2 LA+ 8 dMAE MK BB (He plans
to take a taxi to the airport at 10 o’clock next Tuesday)
deserved to be the fourth sentence because of the word £ 4
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= (Tuesday) which was still explaining the plan of /¥ to
travel to China for the tour.

Moreover, they noticed that the sentence D # 4+ =& =T 4
2|, A= &AL (He will arrive around 12 o’clock,
the plane will take off at 3:00pm) to be the fifth sentence
because they were able to identify the time sequence which
was + & (10:00) and followed by ¥ 4+ = & (12:00
noon) that shows the preparation and the starting of the
journey. Lastly, they knew that the sentence F Z =T
BTG, M K& FAayEE TR (After arriving in
Beijing he will take a train to his teacher’s home.) was
supposed to be the last because of the word £ #7 =
(Wednesday) which shows that this activity will be done
after 2 #8 — (Tuesday). Extract 12.1 is a sample of the
candidates’ good responses to question 12.

t=.

5 o
S N

Ok

¢. F

Extract 12.1: A sample of the candidates’ good responses
to question 12.

In Extract 12.1, the candidate was able to re-arrange all the
jumbled sentences by writing a letter of the corresponding
number.

Further analysis shows that 31 (24.8%) candidates scored
from 4 to 6 marks, which is an average performance. They
were able to re-arrange some items but failed in others. For
example, in items 3 and 4, both activities occurred on £ #i
— (Tuesday). The candidates did not know which sentence
between the two had to start. In item 4, most of the
candidates were not familiar with the word £ % which
means to prepare, thus they failed to recognize the starting
sentence, and ended up writing wrong answers. Extract 12.2
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is a sample of responses from a candidate who performed
average in question 12.

5 &.
B

D

f= | | 2 [4

3»
A C E | F

Extract 12.2: A sample of the candidates’ average res.ponses
to question 12.

In Extract 12.2, the candidate re-arranged correctly the
jumbled sentences in items 2 and 3 by writing the letter to a
corresponding number but failed in items 4, 5 and 6.

Furthermore, the analysis shows that 49 (39.2%) candidates
scored 0 to 2 marks, which is a weak performance. These
candidates failed to recognize the key information that could
help them to produce the chronological paragraph. The
analysis shows that they failed to identify the time markers in
all items such as L%, ¥4, T4, ZH=, ZH=.
This implies that these candidates had weak command of the
Chinese Language, and had insufficient knowledge of
Chinese vocabulary. Thus, they lacked ability to organize
jumbled events into a logical manner. In addition, some
candidates failed to comprehend the whole question and
ended up making a guesswork by re-arranging the sentences
randomly. Extract 12.3 is a sample of weak responses written
by one of the candidates.

+= 1 |2 13 1 115 16

-~

A hig | E R | C
Extract 12.3: A sample of the candidates’ weak
responses to question 12.

In Extract 12.3, the candidate failed to re-arrange all the
jumbled sentences.
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2.5.2  Question 13: Writing Composition

In this question, the candidates were instructed to write a
composition titled My Holiday in Chinese characters. The
question was set from the topic on Travel and Custom. The
question tested the candidates’ ability to arrange and express
thoughts logically by using Chinese characters. They were
required to write a composition ranging from 60 to 80 words.
The question was as follows:

+ = ARAB P EM B — Fh 60 ] 80 F 4945 Lo
Huati: W de jia qt
TEA . AR AR

The total of 109 (86.5%) candidates attempted the question,
of whom 27 (24.7%) candidates scored from 8 to 10 marks,
which is a good performance, 33 (30.3%) candidates scored
from 3 to 6 marks which is an average performance and 49
(45.0%) candidates scored from 0 to 2 marks which is a
weak performance. The general performance of the
candidates in this question was average, since 60 (55.0%)
candidates scored from 3 to 10 marks. Figure 13 summarizes
the candidates’ performance in question 13.

Scores

-0 -2
3-6

m7-10

Figure 13: The Percentages of the Candidates’ Performance in
Question 13.

The data shows that 33 (30.3%) candidates had average
performance, as they scored 3 to 6 marks. These candidates
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had partial understanding of the demand of the question. For
example, some candidates wrote compositions which had
less than 60 words, because they had limited number of
Chinese characters. Other candidates wrote correct
characters in some sentences and wrote incorrect characters
in other sentences either by adding extra strokes or reducing
some strokes. This implies that they had partial knowledge
of the basic skills in writing composition. Extract 13.1 is a
sample of the candidates’ average responses in question 13.

= B TR A EPFRAICELR

P B A 4 ‘x*l RN &N
s 417 Munﬁ XX
IS ACE RN 1T

i

Extract 13.1: A sample of the candidates’ average
responses to question 13.

In Extract 13.1, the candidate was able to write a one
paragraph composition but had some errors in writing
Chinese characters.

Furthermore, the analysis shows that 49 (45.0%) candidates
who scored from 0 to 3 marks and that most of them seem
not to have understood the requirement of the question.
They also lacked vocabulary and others lacked the ability to
arrange and express their thoughts logically. Similarly, they
had insufficient knowledge of composition writing skills.
For example, some candidates copied sentences from other
questions in the question paper. Others misunderstood the
question, they wrote Chinese pinyin to answer questions
instead of using characters. Other candidates wrote
incomprehensible words. This implies that these candidates
lacked vocabulary to express themselves. Extract 13.2 is a
sample of the candidates’ weak responses toquestion 13.
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Extract 13.2: A sample of the candidates’ weak responses to
question 13.

In Extract 13.2, the candidate wrote a paragraph with the
incorrect sentences using characters.

Further data analysis indicates that 27 (24.7%) candidates
had good performance as they scored 6 to 10 marks. The
analysis of candidates’ responces shows that these
candidates had sufficient writing skills, since they mastered
well the rules of writing a composition. They also
understood the requirements of the question and answered
by using Chinese characters. On top of that, they had the
ability to arrange and express thoughts logically. This
implies that these candidates were knowledgeable about
composition writing. Extract 13.3 is a sample of the
candidates’ good responses to question 13.
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Extract 13.3: A sample of the candidates’ good
responses to question 13.

Extract 13.3, indicates the performance of the candidate who
managed to write a good composition.

PERFORMANCE OF THE CANDIDATES IN EACH TOPIC

The Examination of Chinese Language subject contained 13 questions were
derived from the topics of Comprehension, Vocabulary Use, Grammar
Use, Language Use and Composition.

The candidates’ response analysis indicates that the candidates had good
and average performance in the topics tested in 2020. The candidates had
good performance in the topics of Language Use (90.7%), Comprehension
(90.1%), Grammar Use (74.6%) and Vocabulary Use (61.6%). In
Composition, the performance was average as 57.9% candidates scored
30% or above.

Further candidates’ response analysis shows that in 2019, the performance
per each topic was good while it was good and average for the similar
topics in 2020 thereby showing increase performance by 12.3% in the topic
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on Language use. In other topics the performance decreased in performance
as follows: Comprehension decreased by (7.1%), Vocabulary Use
decreased by (15.9%) and Grammar Use decreased by (7.8%). Moreover,
in the topic of Composition the performance decreased from good to
average by (9.3%).

Further analysis shows that, the general performance of topics in 2020 is
good, since (75.0%) candidates scored 30% or above, even though it has
decrease by 5.8% when compared to that of the 2019, in which the topics
tested had the general performance of (80.8%). The analysis of the
candidates’ performance in each topic is summarised in Appendices | and
I

CONCLUSION

The analysis shows that the performance of the candidates in the Chinese
Language subject in CSEE 2020 was good, because 119 (94.4%)
candidates passed the examination and only 7 students failed.

Further analysis indicates that the candidates who performed well in this
examination had good command of the Chinese Language. They also had
ability to read and understand the requirement of the questions and they had
sufficient knowledge of the topics. Despite the good performance, other
candidates had average performance while others had weak performance.
These candidates lacked vocabulary and had insufficient knowledge of the
topics from which the examination questions were set.

RECOMMENDATIONS
In order to improve the candidates’ performance in the Chinese Language
subject, it is recommended that:

5.1 Teachers should guide the candidates on how they have to formulate
Chinese characters. They should also guide their students on how to
apply the prosodic features such as tones, initials and finals, syllable
formation and pinyin.

5.2 Teachers should guide student on how to write a logical paragraph or
composition by giving them pictures, cards and simple titles.

5.3 Teachers should encourage students to read more new words and
passages related to the topics in order to improve their vocabulary
and grammar patterns by giving them simple texts.
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APPENDIX |

Summary of Candidates’ Performance per Topic for the Chinese Language Subject

in CSEE 2020
% of Candidates % of Candidates
an who Scored an who Scored an
S/N Topic NumBer Average of 30 Average of 30 Remarks
Percent or Above | Percent or Above
in each Question in each Topic

5. | Composition

12

60.8

13

55.0

S )

Average
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APPENDIX 11

Comparison Summary of Students’ Performance per Topic for 2019 and 2020

2020

Sy fewsy

aA0QY J0 JUs2J3d
0€ JO abeJaAy Ue palods
oYM sjuapnls Jo abejusdiad

suonsangd Jo JaquinN

a1do ]

2019

Sy fewsy

9N0QY J0 1U82J3d
0€ JO abeJaAy Ue palods
OYM Sjuapnis Jo abejusdiad

suonsanQ Jo Jagunp

aido |

N/S

Composition
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